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5) Production of high j"l.ﬂdiﬂg plant and animals are mpmunt to mamtam mstamablc food
production. r .
-.Thafejcmmtthalmfuundmmnutcamuumsm]:mgmattcns, i .
1) Ca )P ) )K - | 4}M'g ' SN.
asatrznspmtmedmm'? . -

. {4} Surface tensmn

v Whlch crf the fullcmncr cunra;ms p:utusas‘?

< - | Biology 1
Answer allquestmns i i S d ¥ RIS g gren g e e
Selcctthnccrrﬂtstatcmt. .' : AR T S SRR
etemtmphm, aerobic prokaryotes.

; I“(l_‘r The ﬁrst fﬂrmed organisms on edrth are bchzved tobeh
(2) The mcrcase of growth rate of human pupulaunu causes threat of depletion of natural resources. -

(3) Sustainable food Pl‘ﬂdﬂmm is the pmdnchnn {:-f mﬁﬁmeut ammmt of food ft}r'lhe human

i population. : o o :
(4) Cancers, heart d15e:ases and denguc are some dangeruus nun-cummumcal:lc diseases.

: Whl.f:h one nf the majur PIU]}BTHES of water a.llnws it to act

" (1), Cohesion L@ Adhesion
~(5) Cuh:swabghaﬁar_zl

(3) Buth cohesion and adhesion

¢. Hemicellulose d. RNA

a. Inulin b. DNA _ |
(1 a, b, and ¢ only (2) ab, ﬂﬁﬂdﬂﬂj’ _ (3) b,cand d only
(45 _aandéunlgr -{S}banddnﬁly. s bl

A stmctura.l branchcd pulysacﬁmdﬁ 49y

{1) Cc]lulnss {2} Pectm (3) Hemlﬂalluluse '[4.} Glycogen .- '[5) Amylupectifl

Whmh of the following is comctregardmg the given mulccule‘l L L e

(1 Separate chains act as functional proteins.
(2) Each subunit of it is held together b:,r mtra mnlecu]ar mteracunns
(3) Itis a tertiary structure. .- :
(4) It consists of four types of subunits.
(5t cnnsmts of four haem gmups and four pulypcpnde chains

Which of the fullnm gis cor::ct regarding m:croscupr:s ?
~ (1) Magnification 15 1sratm of an object’s size to its image smc

(2) Resolution power cfe:lt:ﬂtrnntrucrﬁscopc is Uﬁnm o B e e

(3) Magnification of microscopes is a measure of the cIant}r‘ of the image.
pes, more electrons may get dﬂplayed in. regmns whc:ra structu:es

(4) 1n-fransmission electron microsco
were densely stained.

T Tras elanirom minrnsccnes.
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" (4) Gap junctions mechanically attaches the cytoskeleton of adjoin cells by intermediate filaments.

B. Cofactors bound lodsely to the  enzyme are revérsible.

ot pair from following. . ¢ called living i the cel-
{S;]*;tut::ﬂﬂ:[f;k:m * 2 The basic umit WECh mh ﬂﬂe be -::unsldared [mn“ mﬁlethr:r

(2} Matthias Schleiden - selow lev ]eve:l ofa cell cannot be COT e s
as e o T i T i e . ] : : :
e : 1t15a.p”lagturan .

_]jlscu-,g;qr of Chl mmadamnm oy

- ﬁxstremrdabmrtbadmi . o . Geihd u
E: basic stmctuml and fumr:'-tmnal umt of urgamsmstsﬁm ce

*+{(3) Thm-dﬂrﬂ Schw:mn
" 4) Anton Van Lcemuhﬁok
(5} Rudn]f‘i.’irchnw

| n?
Which of the fuIlumna features can be seen only in eukﬁr?ﬂhF ﬂfgzﬂ;g;:; b
(1) Selectively permeable plasma membrane. | Ed,) iem e
~ (3) DNA as genetic materials . » e M)oED b
(5) Subcellular mmpuncnls suspeuded mﬂ:m rhc cytosul o 7
Select the fr:atun: of the pmkzryouc flagellum ﬂ:lat can l:-e usB:d to dlsﬁngpish it from emnc
. flagellum. 2 S e
(1) 200 nm diameter
(3) Extracellular
(5) Surrounded by cell surface membrane

{2} 9+2 a:rmgement of mlcmmhules
(4) Comp!ax :

Sele:t the correct statement regarding sub-cellular components.

(1) Ribosomes are sub-cellular orgam:]les composed of IRNA and prutem

(2) SER is called the membrane factory of the cell.

(3) The mn:rmembranﬂ of thc chicmplast pmducas ﬂattaned and mtermnnccted sacs ca]led

thylakoids.
(4) The nuclear matrix is extended through out the interior of the nucleus.
(5) The mitochondrial matrix consists of 705 nbr:rsomes circular DNA, Inany enzymes and lipid

- droplets. -

. Select 'Ihf: correct statement regarding cell pmchnns
{I) Plasmodesmata are membrane lined channels filled with cytoplasm.

(2) Anchor junctions prevent leakage of extracellular fluids through intercellular spaces.
(3) Tight junctions allow signal and material exchange between adjacent cells. '

(5) Plasmodesmata, Anchor juctions, Tight junctions and Gap ]unctmns are different types cell
]Euchuns found in animal cel]s ;

Whlch of thl: following processes of meiosis always causes the genetic variation?
) Cmssmg over _ (2) Independent assortment =~ (3) Recnmhmatmn

(4) C)'tnkmss:s (5) Formation of synaptun:mal complex

Wh.nch of the follomg statements re gardmg cofactors are comrect ?
A. Non proteinous components, which are essential for th: catalytic activities of all enzymes are called
cofactors:

C. O'gﬂ.ﬂ.lb cofactors are called co-enzymes. : b T ) i
D Cu 15 an example of an inorganic cnfactar :

— = ' ‘ 5= - -
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L’l}ﬁ Cﬂndl".'mly (2;-.]3 CﬂﬂdD cbe ® 5 [3}&1-3@:1(3 ﬂm}; 3 thp—
(4) Band D oniv (5) Cand D only
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. Select th ccfm:ct !;tatcmcnl mgardmg gaph A_
(1) Therate of an cnzymatlc reaction i increases with tf:mpcratm:
(2) The temperature at wh:ch the maximal rate of reaction is achieved is the uphmal tzmperatme

(3) When the temperature increases be:}ruud the a_phmmn‘tmrq:ﬂmmw, it H.CEE:II:IHIEB the furmatmn of

! cnzyme-subsuata cnmplcxm

. A8 F or BWI}' cnzyme the npumum tt;mpmmre 1§ 3‘}"’ C
i (f}} Whi:n the te:mpcranre increases beyond the ophmmn tempcratura, t]:u: mchun stops

-t

" Given beIuw isa matcme:nt regardmg gmph B and the reason fm‘ the state:ne:nt.
: Stalemcnt There is a narrow range of pH in which 2 pamm.rla: enzyme catalyzed rcacﬁun ta]s:cs s

| ke placc T'Lus rangc mntams t.'ma pH at which the h1¢,he:st rate of raacuen occurs.
. I{f:asnu Due tc thc altsrahan uf che;:mcal bunds mvalvsd in thr: fo:mahcu of mz}rma-substrate o
- complex, most enzym&s are sensitive to pH. - ” : :
“Which of the fuﬂuwmg is correct rega:dmg the ahnw: statemeut i the reasan?

Statement ' Reason
(1) Correct Correct
' _'(2) Correct ; Corm:t, The masnu clam'ies the statcment.
(3) Incorrect " Correct £
- (4) Incorrect i © .Incorrect ... . .
(5) Correct | ZCcr:acts The reason dnes nm clanfy ﬂm state:nt.
" Which of the following colours in the visible 5pe~::trum are more efﬁc;mt in thtDS]mfhE:ﬂS?
(1) Red and Violet (2) Green and violet - {3) Red anc[ grce:n
(4) Red and blue " (5) Redand yellow, el .

Given below are three statements regarding RuBP carboxylase- oxygenase.

" A =TIt is located in the stroma of chloroplasts and catalyzes the production of 3-PGA..

B- CO; actsasit’s substrate and it is absent in Cq piants
C-It parnmpates in phﬂtosynthms

methe abuvemﬂnmneci statcmeuts Rl o ' _ '

(1) AandB ﬂIE-iJGII'ﬂGL ’ r S | s
.(2) B and C are correct. A is mt:un'ect L , - -
- {'3} ‘A is correct. ‘Band C are mt:nrrcct,

{4) A.B and C are incorrect.

g -.'-L'.L*‘
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The first stab way of hutcs:.mmesuim
H-HA8 Icpmductsprndu.ccdmtthmathwaj'andtﬁcC-path }'ﬂ Pt j

20.

rnspecnvely, - G-;P Malam
(1) 3-PGA,- OAA -(2) RuBP, 0AA —(3) G3P, Pyruvatc (4. S-PGA,Mal () fa

 ‘Which of the following is correct regarding aambm rl‘~'-5]§’15-"’1'f1"m ?

letes in the nntnchundri:m matrix.
level phasphurylauon is 2.
£ mtuchondna is composed of a series

(1) Decarboxylation of respiratory substrate comp

(2) The total number of ATP produced in liver cells by substrate

(3) The electron transport chain lucatcd in the iriner membrane 0
of profeins.

(4} Citric acid contains two carboxylic acid groups. _ :

{5) In citric acid cycle, two FADH; and six NADH are generaled per single acetyl group-

For cach of the questions 21-25, .one or more of the IESPGDSES 1sfarc correct. Dacldc which

1‘&5]?0]15&4’1‘55;}0115& is/are conect and then select the correct number.

21.

a3,

24, -

Summary of above instructions
1 2 3 4 Y
Only Only (A) (C) 2nd | Only (A) and (B) | Only (C)and (D) |- Any other response or
(A)(B) end (D) correct A correct  combination of responses
(D) correct correct
. Select the correct statement/statements regarding given below nucleotides.
i) NAD* ii) NADP* iii) FAD
A. Cannot be found in nucleic acids. |
B. NADP* act as a reducing agent in photosynthesis.
C. FAD acts as an oxidizing agent. '
D, NAD*act as an oxidizing agent in cellular respiration.
E. NADP act ds an electron carriers. '
; Whlch nf the following events can be found in anaphasc of I]lltﬂSlS z.
A. Separafion of sister chromatids
B. Accumulation of complete sets of chromosomes at each pole of ﬂm cell.
C. Interaction of non-kinetochore microtubules of upp-amte poles.
D. Lengthening of non kinetochare microtubules.
E. Movement of centrosomes towards opposite poles.
Select the correct statement/statements regarding ATP.
A. The net yield of ATP per glucose molecule in fermentation is four.
B. There is no production of ATP during anaerobic respimtihn in muscle cells.
C. ATP is a ribonucleotide that contains adenine.
D. ATP is used in aerobic respiration.
E. All enzymatic activities require ATP.
The product/products formed in light dependent reaction of phoiﬂsynﬂ;r:s-i; is/are
A. ATY E‘ CO; C. 0, .D.NADPH - E. NADP
.- . Which.of the following is/are common to both processes ; aerobic IrﬂSpi:aﬁc;q and phutgg:g:spiraﬁon ?
A. Relcase CO; B.Use O,
C. Invelve enzymes in mitochondna D. Take place inin C3 plants.

E. OAA is furmed as an intermediate
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. Ai) State three environmental problems caused by the overexploita

1.........,_.-.....,.,..,..“__.,.,."__i‘..-“l.'....-l--._.'___.-'i-._',.,_.......-i.-titill-i-!-i_-'-lvtiv!! r---rn---.u-t-..-' e *u
21.1!--lillt-|l-llll[--ii--l--!lll-‘i:i-ll-l'--lrl-l!ltl-p-iII-'lIFI'l‘II"l"'""""".-.'.'.‘.-.'... s ek o
3l!'-il'l!-|'-i-illlnullluyllii1-|l-ll-!l-t.lIl-'l-i-l-i-ltl-v-‘il-n-lll-ii!-ll-lf""""!"-".'--"-;"-l."
ii) What is meant by adaptation?
iii) What are the four major properties of water to maintain life on earth?
© B.i) Statetwo characteristics of polysaccharides.

tion of natural resources.

Pt T T T TS R T ELE DL bl e EaemEEse . FEEmEEdd o

samEEemEB e E

samssssBmEn S e T LA L LR L LR Ll

. i) ‘a. " Name a storage pbl}fsacchaxide found in plaﬁts other than starch.

e TP P T R LE LR LA Sl Pt T T R LT R L L L LR

b, State the monomer of the above mentioned polysaccharide.

T I T L] iREssastErEmiadRS s R EREERE R daTEE R e ed s srpiaEsssssniansniSsERpantann

jif) State two structural differences between triacylglycerol and phospholipid.
Triacylglycerol molecule Phasphulipid molecule

-------------------------------------------------------

iv) State a function of each.
a Tracylglycerols :.....c.coivsasasancninvesens e iasesesssssseseestassesssesssiEssssssssessies
b Phqsphnﬁpids ....... E e s S A AT A SRR R SRRT———




s e fd ¢ e Ty 1

T T L A R
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vi) State two agents affecting denaturation of prote:jlzi_s. e

sampmaned sgampEERaRsmE

jsssmassmes " -l'-unt I T T T T E Lok drsiuliai
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tify sucruse che:mmally in the laburainry -

vii) -Write in five steps : the test to 'idén
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 Given'below is a diagram of a sub-cellular component.

¥
T E

L o
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i |

Identify aﬁd.nzma this sub—cellular component.

P Lt bt [ ——————— T TP R L L L Lt

e T LR L L L L L

b. Name the structures labeled asP,QandR. .

c. Name the faces [abﬂed 'as_ X.and Y.

sEREE AR S G S

T e SR LR L

saasmEmsnn BE S

I-i-l'l-l-i-l-.-q.-lll-"---l-ll\'---.III-I-I-'I-'I‘I-I-III!-

c. Which face is located near the Endoplasmic reticulum ? .....o.veeesssese:

11} a. Howdo cilia and ﬂaaclld nf Eukaryﬂtes differ from each nther?

R—— R

Q. ‘....—r-'il'r!lII'-----il-l--ll- e omw Rl sasEmEREESs =88 saEw-

- et P L L LR L

e T T TR Lo b0

.
amssansmE

paEEnEES BESE

s eaasREsREAETEsREaRES

b 1 e = " - b -
J » . g B -
1I ’ E il
e T T T P LE L L AR LA LE b sersalsssmsansans saEsresssssiTARSARETrImpess pRsRERSlRaRRainnT e TR LR & et .
T - - EEw - e LR .—l-|-|--l-l.-.;----..--n-q..,-l---.---.-_d_-l-qtl- EE R L
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A.

b. State two functions of cilia and flagella.

...........................
-

. : - | I ] - ; . '? .
iii) What will happen to a cell, if it receives 2 £ head signal at the G Check potot ¢

- -
--------------------------------

iv) State two significances of mejosis.
i) What is known as anabolism?

. snew
l--l-!l-piil-!!l-iilll-l-l-i-i-'l-lI-i--l-l-l--l--lt--l'l-|ll!l'll-'l---l'l."""'il'll"'-"-""""""-' A ERERE

ii) a. Name the two-types of phosphorylation- that - take place during cellular respiration .
State the specific site/sites of occurrence of each.
Type of phosphorylation . _ o Sp_e:cifi; site/sites of occurrence

sassassrsssnenidiaragrhoasigsnenammenn

P e E R EEE R R L L R R PR LR ebsssadpdsnpisiFEdsnsddssnnshdbdrannn wapan

b. Briefly define each of the above mentioned phosphorylation types.

e ppppe e e P T TP TE LR R LE SRR ELEE LT L EA AR LSRR E L bt

i) State two global importance of photosynthesis.

if) What ate the two types of caraotenoids 7

----------------------------------------------------------------------------------------------------------
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iv) What are the envirﬁnmeﬁﬁl cquditiﬁns thﬁt-favnuxj phntor&spiratiun in plant leaves i

e ame ey sEme@paaRE FeEE "

1..;...;;.,...-..,..-...'.I......_....... 2....-..,. ..... - 3...

") a. How do the mesoph}fli chlumplasts and btmdle shcath cblomplasts of C4 plants dlﬂ’er 1

" structurally from eachother? | gt 3%
Mesophyll chloroplasts R Bundle sheath chlnraplasts

1 ------------------------------------------------ - Bl - e - Loy
2 --------------------------------------------------------------- e RS L L ekt
eSS S S e e A BLSER

----------------

vi) Whlch type of electron flow ﬂcﬁ‘llrs dunng the hght depe:ndent reactmn of (34
' photnsynth:sw mbundlesheath ceﬂs‘? DR oS _ :

e L LR i

vu) -a. Why dc-as the Tate of phntusynthasm decrease at verymah light mtansmes'?

'l'il'iIrll'_ll!l‘!'ll!li'il-iirll e

b. Name two devices that may be present in pla:ut leaves to pmtect themselves from

exposure to high light mtcnmne:s‘?

C. i) What is knownas aerobic respiration?

i) State the balanced chemical equation for the arobic respiration of glucose molecules.

-
. = - e w8 L e e
s B@EE=E am

; w ae mmow A - m B -
-l-tt.-l.biq-n.-...-l.l.q---l-q-.l-n-.-l.-ll--

.-lI-.-l--l.pl--li--l---.I-lil-lIi--l -m

- iii) Where does the pyruvale oxidation take place in aerobic respiration? State the specific site.




_iv) The given below diagram rcprcsents the |

respiration.
P ol
5] ]
| I‘l’
4 o Glyc:lyms
LAk

Citric Acid
Cycle

i

. Oxidative phosphorylation

a. Name the respiratory substrates represented as P, Qand R and state the
_ _Re.apiratorf substrate ' '
P LN
Q :

b. Name the componentsrepresented as D, T , U, Vand W
.

RQ of each.
RQ




RDYaI Lﬂllcge Cﬂlombn 0?

Grade 12

FlIat Term test — - May 2024
| ~ Biology Il

e
ETH ] |

&

3,

~ Part B — Ilssay
» Answer all the questions.

» Giveclear labelled diagrams where necessary
(Each question carries 150 marks)

a) Explain the levels of protein structures.

b) Bﬁcﬂy describe thelﬁmcﬁans of the proteins with suitable e:x:i_mples.

Write short notes on foﬂcwﬁ_:gs.
a) Structure of DNA 'mulnculr:
'h) Exh‘aceﬂula:mamxnfanunal cclls iR _—

: c) Fcrmcntauon :

¥




